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1. a cat

INCORRECT

No answer given

THE ANSWER

C.  

2. a cow

INCORRECT

No answer given

THE ANSWER

E.  

7 Matching questions

0%

A.  

B.  

C.  

NAME 
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3. a dog

INCORRECT

No answer given

THE ANSWER

G.  

4. a fly

INCORRECT

No answer given

THE ANSWER

B.  

5. a boy

INCORRECT

No answer given

THE ANSWER

F.  

D.  

E.  

F.  

G.  
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6. a man

INCORRECT

No answer given

THE ANSWER

D.  

7. a fish

INCORRECT

No answer given

THE ANSWER

A.  

6 Multiple choice questions

1.  

INCORRECT

No answer given

THE ANSWER

a woman
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2.  

INCORRECT

No answer given

THE ANSWER

a mouse

3.  

INCORRECT

No answer given

THE ANSWER

a toad

4.  

INCORRECT

No answer given

THE ANSWER

a bird
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5.  

INCORRECT

No answer given

THE ANSWER

animals

6.  

INCORRECT

No answer given

THE ANSWER

a girl

6 True/False questions
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1.  

 → a mouse

INCORRECT

No answer given

THE ANSWER

False

It should be → a horse

2.  

 → a bird

INCORRECT

No answer given

THE ANSWER

False

It should be → a baby
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3.  

 → a toddler

INCORRECT

No answer given

THE ANSWER

False

It should be → a spider

4.  

 → an old man

INCORRECT

No answer given

THE ANSWER

True
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5.  

 → an old woman

INCORRECT

No answer given

THE ANSWER

True

6.  

 → a spider

INCORRECT

No answer given

THE ANSWER

False

It should be → a toddler


